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West Bengal State University
B.A./B.Sc./B.Com ( Honours, Major, General } Examinations, 2015
- PART - II1
EDUCATION — HONOURS
Paper - VI ‘

Duration : 4 Hours | [ Full Marks : 100

Candidates are required to give their answers in their own words as far as practicable.
The figures in the margin indicate fgii marks.
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i Answer any one guestion : 1x20=20
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aj What is reliability of a test ? Discuss the different methods of determining

reliability of a test. What is the relation between validity and reliability ?
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b)  What is meant by Evaluation ? Discuss various tools and techniques’
involved in modern Evaluation. ' 4+ 16
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2. Answer any three questions : 3x5=15
cu v Foafs oo 397 o
a} Discuss the need of evaluation in education.
fapsTy SETTRCE m AL FPH |
b} Explain briefly the various scales of measurement with example.
Loy e e caersfer sicews
¢} Mention the characteristics of a good test.
et sl whEeft ST
d) Classify various types of tests in evaluation.
spes fafen wdmeln cnfifdss T
e} Explain briefly any two types of validity.
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3 Answer any five questions ; 5x3=15
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a) What is the difference between measurement and evaluation ?
s @ EmaeE e 2
b} What is the difference between standardized test and teacher-made test ?
wfifis wErw ¢ Prssge wdhw o ol f e
¢} What is meant by usability of a test ?
o w8t Serarier @erce R @i 2
d} Why is ‘Scoring key' used in a test ?

wdrrr ‘cwifEs R weny o T oo

[SUB-B.A.[(HN}-EDCA-12071 |




3
¢  What is meant by ltem analysis of a test ?
ey o Rnre s e T 7
f§  Write three scopes of evaluation.
s ol offafy P
2 What is the difference between formative evaluation and sumﬁve
evaluation ?
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Answer any one guestion : : . 1x20=20
@ @ o overs T
a) i) What is meant by the measures of cmualwndm?%xch is the
most acceptable and why ?
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ii) Compute mean, median, mode and S.D. from the following
distribution : ‘
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Scores | 80-84 | 85-89 | 90-94 | 95-99 IOO-lQ“i 105-109
f ¥ s 4 6 9 9

- 110-114 | 115-119 | 120-124 | 125-129
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' 3x5=15
8. Answer any three questions ! ;
e faals sipng Taa
a)  Given $X = 80 and X2 = 1000, for 32 scores. Calculate S.D. from the
* above values.

32 B cu@® osm@ $X = 80 wdt £X? = 10001 @wmﬁmmﬁw
b} What are the characteristics of Normal Probability Curve ?
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¢} Draw a pie chart to represent the following data on the proposed outlay
during the 11th Five-Year Plan :

st Sl ~Rewan owfts frafike vefie e wum Torgae

T
Event Agriculture | Industries | Power & deferice Communication | Education
fm Bai| forg e ¢ afegm caenz firesy
Expenditure :
crores) 6,000 4,000 2,500 4,500 - 3,000
¥ ()
dj Runs of two cricketers from 6 innings of 3 matches are given below.

Which cricketer's performance is best in overall ?
7o e 3 B w6 B SPuom mm B W GG v
e s o

Cricketeed 7. 16, 87, 14, 110, .90
TS| “

Cricketer-1l . 50, 45, 42, 60, 42, 70,
TSI . :

(SUB-B.A.{HN)-EDCA"12071

[ Turn over




g RS

s

v o

T




7 EDCA(HN)-06

f} In a distribution, the values of skewness is 247 and kurtosis is 0:247.
What is the nature of that distribution 2

0 3BT FE = 247938 THBOY = 02471 7D 23S fome 2

2l in a distribution, the mean is 90 and S.D. is 10. What will be the zscore
of the score 94 ?
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